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Question 1

Alet needs R10500 1n ten months’ time to buy herself a new lens for her camera Two months
ago she deposited R9 000 in a savings account at a sumple interest rate of 11,5% per year How
much money will Alet still need to buy the lens ten months from now?

[1] R229,50
[2) R408,67
[3] R465,00
[4] R637,50

[5] None of the above

Question 2

Chappie borrowed money on 31 August and agreed to pay back the loan on 2 November of the
same year If the discount rate 1s 18% per year and he received R5 000 on 31 August, what 1s
the value of the loan that Chappie has to pay the bank on 2 November?

1]  R5 000,00
[2] R5 160,32
[3] R4 844,66
[4] R5 155,34

—_—

5]  None of the above

Question 3

If money 1s worth 12% per annum compounded monthly, the principal P will double The time
under consideration 1s therefore .

[1] 5,81 years.
[2] 6,12 years
[3] 7,27 years
[4] 8,33 years

[5] 69,66 years
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Questions 4 and 5 relate to the follounng situation:
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Bongi wants to open a delicatessen wn the Good Food Mall. On 7 March he invested R375000
wmio an account earming 10,45% wnterest per year, compounded monthly. Interest 1s credited on
the first of every month Bong: unll move into his new shop on 28 November of the same year

Question 4

If simple interest 1 used for odd period calculations and compound nterest for full periods, then
the amount of money that Bong: will have available in the account on 28 November of the same
year will equal .

[1]
2]
3]
[4]
[5]

R403 558,56

R404 300,59.

R404 348,61
R404 419,58
R404 540,76

Question 5

If fractional compounding 15 used for the full term, the amount of money that Bong1 will have

available mm the account on 28 November will equal

RA403 558,56
R404 300,59
R404 348,61
R404 415,85
R404 540,76

Question 6

Jacob 1nvests an amount of money 1 an account earning 13,88% interest per year, compounded
weekly After five years, this amount has accumulated to R50000 The amount that was invested
mtially equals

[1]
[2]
[3]
(4]
[5]

R15 300,00
R25 001,79
R26 105,54
R29 515,94
R34 700,00
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Question 7

After investing an amount of money 1n an account earning interest at a continuous compounding
rate of 10,15% per year, you receive R32412,87 The amount of money that you mvested 57
weeks earlier equals approximately

(1]  R29 000,00.
[2] R29 153,86
[3] R29 167,68.
[4] R32 768,16.
[5] R36 227,38

Question 8

An interest rate of 14,9% per year, compounded quarterly, 1s equivalent to a weekly compounded
interest rate of .

[1] 14,65%.
[2] 14,88%
[B] 15,16%.
[4]  19,02%.

[5]  none of the above

Question 9

If the nommal interest rate per year 1s 16,5% per annum compounded at the end of every second
month, then the effective interest rate equals

(1] 14,527%
[2] 16,181%
3] 16,677%.
[4]  17,677%.
[5] 18,000%
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Question 10

Freedman inherits R2500000 He decides to have 1t paid out to him mn two payments one
payment four years from now and the other payment, three times the first payment, ten years
from now The amount that he can expect to receive ten years from now, if an interest rate of

12,25% per year compounded quarterly 15 applicable, approximately equals

[1]
[2]
[3]
[4]
[5]

R1650400
R1 875 000.
R2088850
R4951 240
R6 266 545

Question 11

Six years ago Jakes borrowed R150000 from Martha on condition that he would pay her back
nine years from now at an interest rate of 15,5% per year compounded monthly He also owes
Martha R250 000 payable six years from now at an interest rate of 16,4% per year compounded
half-yearly. Jakes asked Martha if he could settle both his debts 1n one payment three years from
now. The total amount that Jakes has to pay Martha three years from now equals

1]
[2]
[3]
[4]
15]

RA400 000,00
RAT5 017,72
R488 092,15
R755 667,10
R777 202,69

Question 12

The sports club’s fund must pay Tandi1 R3 500 per month indefinitely as compensation for an
mjury she sustained at the club The approximate amount of money available in the fund for this
purpose now, if an interest rate of 11,2% per year, compounded monthly 1s applicable, equals .

1]

22

[
[
[3
[4]
[5)

[ et}

R229 934.
R330 132
R334 661
R375 000
R390 443
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Question 13

Monthly payments of R1200 are paid into a savings account. The applicable interest rate 1s
7,75% per year, compounded quarterly. After ten years the accumulated amount of these monthly
payments approximately to the nearest hundred rand equals .

[1] R144 000
[2]  R215 900
[3] R216 500.
[4] R291 100

[5]  none of the above.

Question 14
If § = Pe®, then c equals ..

n 22
2] S;P
8 S;P
g 23

Question 15

Fawzia takes out an endowment policy that matures in 20 years time The expected interest
rate per year 1s 10% Her first payment is R3 600 per year, after which the yearly payment will
increase by R360 each year. The amount that she can expect to receive on the maturity date
will be

[1] R213030
[2] R340 380
[3] R412 380
[4] R484 380

[5] none of the above

[TURN OVER]
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Questions 16 and 17 relate to the following situation:
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Azza wants to open a curry shop Her husband Hamad lends her the money However, she unll
only be able to start paying ham back five years from now She wnll then be able to pay R25 000
every second month for six years Interest 1s charged at 16,9% per year, compounded every two

months

Question 16

The amount that Aziza owes her husband when she starts paying him back equals .

[1]
[2]
31
[4]
[5]

R184 087,12
R229 591,36
R487 279,43
R561 047,91
R900 000,00

Question 17

The amount that Aziza’s husband lends her now equals

1]
[2]
(3]
[4]
[5]

R81 795,20

R105 167,85
R216 512,27
R243 834,05
R391 144,22

Question 18

Monique wants to upgrade her studio in four years’ time and estimates that 1t will cost her
R350000 She starts to save immediately by depositing R5 000 at the beginming of every month
1n an account earning 12,4% per year, compounded monthly. The amount still needed just before

she starts to renovate her studio will equal

[1]
[2]
[3]
(4]
5]

R38 117,25
R41 307,07
R49 591,37
R51 538,80
R110 000,00
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Question 19

Lews’s debt of R275 000 from Ellerme at an interest rate of 16% per year, compounded quarterly,
15 payable m five years’ time. The debt will be discharged by the sinking fund method The
sinking fund will earn interest at a rate of 14% per year, compounded half-yearly The half-yearly
deposits 1n the sinking fund approximately equal .

[1] R9235

[2] R13 750.
8] R19 904.
[4 R20235.
[5] R27 500.

Question 20

The following is an extract from an amortisation schedule for the Busy Fingers Kmt Shop The
loan will be paid off in 15 years

Qutstanding principal
Month | at beginning of the month | Interest due | Payment | Principal repaid
15 385 232,41 ’ 3 081,86 A 111921

The value of A equals .

[1] R125,00
[2] R344,20.
[3] RI1 962,65
[4] R2 140,18

[5] R4 201,07

Question 21

Karen’s mnvestment of R1 050 000 in Pump Up The Jam restaurant is expected to yeld the
following sequence of yearly cash flows over the next six years R350 000, R320 000, R240 000,
R500 000, R80 000 and R60 000 The IRR (internal rate of return) of the investment therefore
equals

[ 671%
[2 7.94%
(3] 12,41%.
4] 14,76%.
5]  15,24%
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Questions 22, 23 and 24 relate to the following situation:
Dawnd buys a bachelor flat and makes a down payment of 20% on the price of the flat. For the
remawning amount he manages to secure a loan at an interest rate of 9,75% per year, compounded
monthly for a percod of 20 years His monthly payment 1s R5311,69

Question 22

The size of the loan (to the nearest rand) equals .

[1] R295723
[2] R491 712
[3] R560 000
[4] R1089 577

[5] none of the above

Question 23
The price of the flat 1s

[1] R354868.
[2] R614640.
[3] R672000

[4] R700000
[5] R1529767

Question 24

If an average mmflation rate of 4,67% per year 1s expected, then the total real cost of the loan
equals

[1) R101 198,33
[2] R267 543,13
[3] R458 801,66
[4]  R560 000,00
[5] R827 543,13
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Question 25

The Girls’ Best Friend Boutique sells diamonds The following table represents the number of
diamonds sold (y) and the carat value of the diamonds ()

z| 05 1 2 |5
y | 1000 | 800 | 500 | 20

Suppose there 1s a linear relationship between the carat value of the diamond and the number
of diamonds sold. The coefficient of correlation between the carat value of the diamond and the
number of diamonds sold is ...

[1] -2,0758.
[2] —0,98185
[B] 0,98185
[4] 1,20213
[5] 1,6250.

Question 26

The slope of the regression hne of the above mentioned relationship 1s

[1] —207,59
[2] —0,98185.
3B 2,125

[4] 1021,13.

[5] none of the above

Question 27
Consider stock ABC

Coupon rate: 9,75% per year
Yield to maturity 11,25% per year
Settlement date 15 November 2012
Maturity date 7 August 2035

The all-in price equals .

[1] R85,63641%
[2] R87,80282%
8] R87.86673%
[4] R90,39112%
[5] R92,67782%
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Question 28

'The equation for the present value of stock CCC on 17 December 2012 1s given by

0,13
107,55174 = daggg 135 + 1001 + —’—23)'29

The half-yearly coupon rate d 1s equal to

1]  6,75%
2] 7,35%
[3] 8,55%
[4] 14,70%

[5] none of the above

Question 29

If the profitability mdex of the Soft Serve Parlour 1s 1,0514 and the NPV (net present value)
equals R25 700, then the original mvestment approximately equals

[1] RI2528
[2] RI3 172
[B] R24444
[4] R25 700.
[5] R50 000

Question 30

You must choose between two investments, A and B The profitabihty mdex (PI), net present
value (NPV) and internal rate of return (IRR) of the two investments are as follows

Criteria | Investment A | Investment B
NPV —44000 38 000
PI 0,945 1,051
IRR 15,37 21,82

What mnvestment/s should you choose, taking all the above cnteria into consideration, 1f the cost
of capital 1s equal to 19% per year?

1 A

2] B

[3] Both A and B
[4] Nether A nor B

[5]  Too httle information to make a decision
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FOR LEAP YEARS, ADD ONE TO THE NUMBER OF EVERY DAY AFTER FEBRUARY 28

Day Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec Day
1 1 32 60 91 121 152 182 213 244 274 305 335 1
2 2 33 61 92 122 153 183 214 245 275 306 336 2
3 3 34 62 93 123 154 184 215 246 276 307 337 3
4 4 35 63 94 124 155 185 216 247 277 308 338 4
5 5 36 64 95 125 156 186 217 248 278 309 339 5
6 6 37 65 96 126 167 187 218 249 279 310 340 6
7 7 38 66 97 127 158 188 219 250 280 311 341 7
8 8 39 67 98 128 159 189 220 251 281 312 342 8
9 9 40 68 99 129 160 190 221 252 282 313 343 9

10 10 41 69 100 130 161 191 222 253 283 314 344 10
11 11 42 70 101 131 162 192 223 254 284 315 345 11
12 12 43 71 102 132 163 193 224 255 285 316 346 12
13 13 44 72 103 133 164 194 225 256 286 317 347 13
14 14 45 73 104 134 165 195 226 257 287 318 348 14
15 15 46 74 105 135 166 196 227 258 288 319 349 15
16 16 47 75 106 136 167 197 228 259 289 320 350 16
17 17 48 76 107 137 168 198 229 260 290 321 351 17
18 18 49 77 108 138 169 199 230 261 291 322 352 18
19 19 50 78 109 139 170 200 231 262 292 323 353 19
20 20 51 79 110 140 171 201 232 263 293 324 354 20
21 21 52 80 111 141 172 202 233 264 204 325 355 21
22 22 53 81 112 142 173 203 234 265 295 326 356 22
23 23 54 82 113 143 174 204 235 266 296 327 357 23
24 24 55 83 114 144 175 205 236 267 297 328 358 24
25 25 56 84 115 145 176 206 237 268 298 329 359 25
26 26 57 g8 116 146 177 207 238 269 299 330 360 26
2T 27 58 86 117 147 178 208 239 270 300 331 361 27
28 28 59 87 118 148 179 209 240 271 301 332 362 28
29 29 88 119 149 180 210 241 272 302 333 363 29
30 30 89 120 150 181 211 242 273 303 334 364 30
31 31 90 151 212 243 304 365 31
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